
 

 

Answer on Question #60034-Physics-Electromagnetism 

a .25 meter long coil consist of 560 square turns 6.5 cm on a side the coil is placed in a uniform magnetic 

field of strength 1.2 teslas. Initially the coil is oriented so that its axis coincides with the magnetic field 

direction. The coil is then rotated 90 degrees about an axis perpendicular to the magnetic field direction in 

.20 milliseconds. What is the magnitude of the emF induced in the coil? 

Solution 

𝜀𝑖𝑛𝑑 = |
ΔΦ

Δ𝑡
| = 𝑛

BΔA

Δ𝑡
=

𝑛𝐵

Δ𝑡
(𝑎𝐿 − 𝑎2) =

𝑛𝐵𝑎

Δ𝑡
(𝐿 − 𝑎) =

560 ∙ 1.2 ∙ 0.065

0.20 ∙ 10−3
(0.25 − 0.065) = 40 𝑘𝑉. 

Answer: 40 kV. 
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